


 



 



1. fuEu esa dkSu lgh gS\

(a) fdlh rqY;dkfyd e'khu ds eq[; ¶yDl ij {ks= /kkjk ds

izHkko dks vkesZpj izfrfØ;k dgrs gS

(b) fdlh rqY;dkfyd e'khu dh vkesZpj /kkjk ij ok;q&varjky

¶yDl ds izHkko dks vkesZpj izfrfØ;k dgrs gS

(c) fdlh rqY;dkfyd e'khu ds eq[; ¶yDl ij vkesZpj /kkjk

ds izHkko dks vkesZpj izfrfØ;k dgrs gS

(d) fdlh rqY;dkfyd e'khu ds ok;q&varjky ¶yDl ij vkesZpj

èkkjk ds izHkko dks vkesZpj izfrfØ;k dgrs gSa

2. 250 vkesZpj pkyd okyk ,d ySi dqaMfyr DC tujsVj 1200

rpm ij pyrk gSA ;fn mldh tfur emf, 200 V gks] rks ml

DC tujsVj dk izpkyu ¶yDl fdruk gksxk

(a) 0.02 Wb (b) 0.08 Wb

(c) 0.04 Wb (d) 0.06 Wb

3. fdlh DC 'kaV eksVj dh izkIr vf/kdre xfr fdruh gksrh gS

(a) 'kwU; Hkkj xfr ds cjkcj

(b) 'kwU; Hkkj xfr ls dkQh T;knk

(c) 'kwU; Hkkx xfr ls dkQh de

(d) vkn'kZr% vuar

4. fdlh DC 'kaV eksVj ds ?kw.kZu dh fn'kk] fdldh vnyk&cnyh

djds myVh dh tk ldrh gS

(a) dsoy {ks= VfeZuyksa ls

(b) dsoy vkeZspj VfeZuyksa ls

(c) QhYM vFkok vkesZpj VfeZuyksa ls

(d) iznk; VfeZuyksa ls

5. ;FkklaHko de ls de orZuksa ds AC Js.kh ds eksVj fdlesa deh ykus

ds fy, cuk, tkrs gS

(a) xfr (b) ¶yDl

(c) izfr?kkr (d) yksg gksfu
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1. Which one of the following is correct ?

(a) The effect of field current on main flux of a

synchronous machine is called armature

reaction

(b) The effect of air gap flux on armature current

of a synchronous machine is called armature

reaction

(c) The effect of armature current on main flux

of a synchronous machine is called armature

reaction

(d) The effect of armature current on air gap flux

of a synchronous machine is called armature

reaction

2. A lap wound DC generator having 250 armature

conductor runs at 1200 rpm. If the generator emf is

200 V, then the operating flux of the DC generator is

(a) 0.02 Wb (b) 0.08 Wb

(c) 0.04 Wb (d) 0.06 Wb

3. The highest speed attainable by DC shunt motor is

(a) equal to no-load speed

(b) much higher than no-load speed

(c) much lower than no-load speed

(d) ideally infinite

4. The direction of rotation of a DC shunt motor can

be reversed by interchanging

(a) the field terminals only

(b) the armature terminals only

(c) either field or armature terminals

(d) the supply terminals

5. AC series motors are built with as few turns as

possible to reduce

(a) speed (b) flux

(c) reactance (d) iron losses
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6. ifjØkeh {ks= fl)kUr ds vk/kkj ij] 4 iksy ds jksVj emf, 50

Hz, rFkk ,dy Qst izsj.k eksVj tks 1300 rpm ij vxz {ks= esa

mlh fn'kk esa py jgh gS] dh vxzxkeh rFkk i'pxkeh vko`fÙk;k¡

Øe'k% D;k gksxh

(a) 6.67 Hz, 93.33 Hz

(b) 107.69 Hz, 7.69 Hz

(c) 93.33 Hz, 6.67 Hz

(d) 7.69 Hz, 107.69 Hz

7. rhu ySai] js[kkkfp= esa fn, x, ifjiFk ds vuqlkj yxk, x, gSaA

rnuqlkj 100 W ds ySi esa vf/kdre jks'kuh dc gksxh\

K1

K3

K2

100W

40 W

40 W

~

(a) K
1
dh pkch [kqyh gks] K

2
dh can gks rFkk K

3
dh [kqyh gks

(b) K
1
dh pkch can gks] K

2
dh [kqyh gks rFkk K

3
dh [kqyh gks

(c) (a) rFkk (b) nksuksa fLFkfr;k¡ gksa

(d) K
1
dh pkch can gks] K

2
dh [kqyh gks rFkk K

3
dh can gks

8. nks ;qfXed izsjd L
1
rFkk L

2
fn, x, gSA mudh vU;ksU; izsjdRo M

gSA rnuqlkj muds laca/k dh dlkSVh D;k gksxh

(a) 1 2L L
M

2


 (b) M > L

1
L

2

(c) M  L
1
L

2
(d) M = L

1
L

2

9. ;fn ,d pqacdh; inkFkZ dh NM+ dh yackbZ 20% c<+k nh tkrh gS

vkSj mldk vuqizLFk&dkV dk {ks=Qy 20% de dj fn;k tkrk

gS] rks mlds izfr"VEHk ij D;k izHkko iMs+xk

(a) 67% c<+ tk,xA (b) 52% c<+ tk,xk

(c) ;Fkkor jgsxk (d) 33% de dks tk,xk

6. Based on revolving field theory, the forward and

backward frequencies of the rotor emf of a 4-pole,

50 Hz, single-phase induction motor when running

at 1300 rpm in the same direction of the forward

field are respectively

(a) 6.67 Hz, 93.33 Hz

(b) 107.69 Hz, 7.69 Hz

(c) 93.33 Hz, 6.67 Hz

(d) 7.69 Hz, 107.69 Hz

7. Three lamps are in circuit as shown in figure. At

what condition 100 W lamp will have the maximum

brightness?

K1

K3

K2

100W

40 W

40 W

~

(a) Key K
1
 is open, K

2
 is closed and K

3
 is open

(b) K
1
 is closed, K

2
 is open and K

3
 is also open

(c) Both (a) and (b)

(d) Key K
1
 is closed, K

2
 is open and K

3
 is closed

8. Given two coupled inductors L
1
 and L

2
 having their

mutual inductance M. The relationship among them

must satisfy

(a) 1 2L L
M

2


 (b) M > L

1
L

2

(c) M  L
1
L

2
(d) M = L

1
L

2

9. If the length of a bar of magnetic material is

increased by 20% and the cross-sectional area is

decreased by 20% then the reluctance is

(a) increased by 67% (b) increased by 50%

(c) remaining same (d) decreased by 33%
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10. nks ;qfXed izsjd L
1
 = 0.2 H rFkk L

2
 = 0.8 gSA mudk ;qXeu

xq.kkad K = 0.8 gSA rnuqlkj vU;ksU; izsjdRo M fdruk gksxk

(a) 0.24 H (b) 0.16 H

(c) 0.02 H d) 0.32 H

11. ,d dqaMyh] ftlesa dbZ Qsjs gSa] ,d fof'k"V dky fLFkjkad okyh gSA

rnuqlkj ;fn mlds Qsjkas dh la[;k nqxquh dj nh tk,] rks mlds

dky fLFkjkad ij D;k izHkko iMs+xk

(a) nqxquk gks tk,xk

(b) pkj xquk gks tk,xk

(c) vk/kk tks tk,xk

(d) vizHkkfor jgsxk

12. vko`fÙk dks foijhr vafdr fdlh yksg&pqacdh; ØksM esa izfr

vko`fÙk&bdkbZ dh yksg&gkfu dSlh gksrh gs

(a) vpj

(b) /kukRed izo.krk okyh ljy js[kk

(c) _.kkRed izo.krk okyh ljy js[kk

(d) ijoy;

13. nks fudVorhZ ;qfXer ØksMksa ds chp vU;ksU; izsjdRo 1 H gSA

rnuqlkj] ;fn ,d ØksM ds Qsjs ?kVkdj vk/ks dj fn, tk;¡ vkSj

nwljs ds nqxqus dn fn;k tk,¡] rks vU;ksU; izsjdRo dk u;k eku

fdruk gks tk,xk

(a) 1/2 H (b) 1/4 H

(c) 1 H (d) 2 H

14. fuEu ys[kkfp= esa ,d yksg pqEcdh; inkFkZ dh ,d pknj dh

cnyrh gqbZ vko`fÙk f ds vuqlkj] gkfu ds vfHky{k.kksa dks n'kkZ;k

x;k gSA mlesa P
i
, ;fn vko`fÙk f ij yksg dh gkfu gks rks ml

pknj ds 100 Hz ij fgLVsfjfll ,oa Hkaoj&/kkjk dh gkfu

fdruh gksxh

Slope = 0.001

P  /fi

0.01

f

(a) 1 W, 10 W (b) 10 W, 100 W

(c) 10 W, 50 W (d) 1 W, 5 W

10. Two coupled inductors L
1
 = 0.2 H and L

2
 = 0.8 H,

have coefficient of coupling K = 0.8, The mutual

inductance M is

(a) 0.24 H (b) 0.16 H

(c) 0.02 H (d) 0.32 H

11. A coil with a certain number of turns has a specified

time constant. If the number of turns is doubled, its

time constant would

(a) become doubled

(b) become four fold

(c) get halved

(d) remain unaffected

12. The iron loss per unit frequency in a ferromagnetic

core, when plotted against frequency, is a

(a) Constant

(b) Straight line with positive slope

(c) Straight line with negative slope

(d) Parabola

13. The mutual inductance between two closely coupled

coils is 1 H. If the turns of one coil is decreased to

half and those of the other is doubled, the new value

of the mutual inductance would be

(a) 1/2 H (b) 1/4 H

(c) 1 H (d) 2 H

14. Following graph shows the loss characteristics of

a sheet of ferromagnetic material against varying

frequency f. P
i
 is the iron loss at frequency f,

Hysteresis and eddy current losses of the sheet at

100 Hz are

Slope = 0.001

P  /fi

0.01

f

(a) 1 W, 10 W (b) 10 W, 100 W

(c) 10 W, 50 W (d) 1 W, 5 W
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15. yksg dh ØksM+&dqaMyh esa fgLVsfjfll gkfu;k¡ dc gksrh gS

(a) dqaMyh dh /kkjk dsoy TokoØh; gksus ij

(b) dqaMyh dh /kkjk izR;korhZ gksus ij

(c) dqaMyh dh /kkjk dsoy vlef;r izR;korhZ gksus ij

(d) dqaMyh dh /kkjk dsoy DC gksus ij

16. yksg paqcdh; ØksM esa Hkaoj&/kkjk dh gkfu fdldh lekuqikrh gS

(a) vko`fÙk dk O;qRØe

(b) vko`fÙk dk oxZ

(c) vko`fÙk dk oxZewy

(d) vko`fÙk

17. nks izsjdksa dk LoizsjdRo Øe'k% 9 mH rFkk 25 mH gSA mu nksuksa

dh chp vU;ksU; izsjdRo 12 mH gSA rnuqlkj mu nksuksa izsjdksa ds

chp izsjf.kd ;qxeu dk xq.kakd fdruk gksxk

(a) 1.25 (b) 18.75

(c) 0.25 (d) 0.8

18. LFkkbZ pqacd cukus ds fy, tks pqacdh; lkexzh bLrseky dh tkrh

gS] mlesa D;k gksuk pkfg,

(a) fuEu fuxzg cy

(b) rsth ls mBrs pqacdu&oØ

(c) NksVs fgLVsfjfll ywi

(d) mPp /kkj.k {kerk

19. DC e'khu ds [kaHks vDlj fdlfy, iVfyr fd, tkrs gSa

(a) fgLVsfjfll gksfu de djus ds fy,

(b) Hk¡oj /kkjk dh gkfu de djus ds fy,

(c) yksg Hkkj de djus ds fy,

(d) vkesZpj izfrfØ;k de djus ds fy,

20. lkoZf=d eksVj dSlh eksVj gksrh gS

(a) 'kaV

(b) Js.kh

(c) ,ddyh; izsj.k

(d) rqY;dkfydk

21. fuEu esa dkSu lh eksVjsa AC rFkk DC nksuksa ij larks"kizn <ax ls

dk;Z dj ldrh gSa\

(a) rqY;dkfyd eksVj (b) Js.kh

(c) 'kaV eksVj (d) izsj.k eksVj

15. Hysteresis losses are present in iron core coil when

(a) the current in the coil is sinusoidal only

(b) the current in the coil is alternating

(c) the current is unsymmetrical alternation only

(d) the current in the coil is DC only

16. Eddy current loss in ferromagnetic core is

proportional to

(a) reciprocal frequency

(b) square of frequency

(c) square root of frequency

(d) frequency

17. Two inductors have self inductances of 9 mH and

25 mH. The mutual inductance between the two is

12 mH. The coefficient of inductive coupling

between the two inductors is

(a) 1.25 (b) 18.75

(c) 0.25 (d) 0.8

18. The magnetic materials that are used to prepare

permanent magnets should have

(a) low coercive force

(b) steeply rising magnetisation curve

(c) small hysteresis loop

(d) high retentivity

19. Poles of dc machines are often laminated to reduce

(a) hysteresis loss

(b) eddy current loss

(c) iron weight

(d) armature reaction

20. Universal motor is a _______ motor

(a) shunt

(b) series

(c) single phase induction

(d) synchronous

21. Which of the following motors can work

satisfactory on both AC and DC?

(a) Synchronous motor (b) Series motor

(c) Shunt motor (d) Induction motor
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22. Øe'k% 40 MVArFkk 60 MVA njksa okys nks vkYVjusVj] lekarj

fLFkfr esa dk;Z djrs gq, 80 MW Hkkj dh vkiwfrZ dj jgs gSaA mu

nksuksa vkYVjusVjksa dk pky&fu;eu 5% gSA vnuqlkj mu nksuksa ds

chp] Hkkj dh fgLlsnkjh fdruh gksxh

(a) 30 MW, 50 MW

(b) 32 MW, 48 MW

(c) 36 MW, 44 MW

(d) 40 MW, each

23. 3 Qst okyh izsj.k&eksVj ds liZ.k dks fdl izdkj O;Dr fd;k tk

ldrk gS

(a) jksVj 'kfDr fuos'k@jksVj rkack gkfu

(b) jksVj rkack gkfu@jksVj ØksM gkfu

(c) jksVj rkack gkfu@jksVj 'kfDr fuos'k

(d) jksVj rkack gkfu@dqy fuos'k 'kfDr

24. rhu Qst ds rkjk&lacaf/kr rqY;dkfyd tfu= esa] ftlds vk¡dM+s

fuEufyf[kr gS] izfr Qst izsfjr fo|qr okgd cy (emf) fdruk

gksxk

forj.k xq.kd = 0.955

dqaMyh foLr`fr xq.kkad = 0.966

vko`fÙk = 50 Hz

izfr /kqzo ¶yDl = 25 mwb

izfr Qst ¶yDl = 240

(a) 1737.80 oksYV (b) 2128.36 oksYV

(c) 1228.81 oksYV (d) 869.46 oksYV

25. ,d Qst okys ifj.kkfe= esa] iw.kZ Hkkj ij rkack gkfu 600 okV gSA

rnuqlkj iw.kZ Hkkj ds vk/ks ij] rkack gkfu fdruh gksxh

(a) 300 okV (b) 150 okV

(c) 75 okV (d) 600 okV

26. fdlh Lor% ifj.kkfe= esa] ftlesa ,d lksfM;e ok"i ySai dk iz;ksx

fd;k x;k gks] mPp ifj.kke fdldk gksxk

(a) ifj.keu vuqikr

(b) daqMyh izfrjks/k

(c) daqMfy;ksa dk {kj.k izfr?kkr

(d) VA fu/kkZj.k

22. Two alternators rated 40 MVA and 60 MVA

respectively are working in parallel and supplying

a total load of 80 MW. Speed

(a) 30 MW, 50 MW

(b) 32 MW, 48 MW

(c) 36 MW, 44 MW

(d) 40 MW each

23. Slip of a 3-phase induction motor may be

expressed as

(a) rotor power input/rotor copper loss

(b) rotor copper loss/rotor core loss

(c) rotor copper loss/rotor power input

(d) rotor copper loss/total input power

24. The emf induced per phase in a three phase star

connected synchronous generator having the

following data

Distribution factor = 0.955

Coil-span factor = 0.966

Frequency = 50 Hz

Flux per pole = 25 mwb

Turns per phase = 240

emf per phase is

(a) 1737.80 V (b) 2128.36 V

(c) 1228.81 V (d) 869.46 V

25. In a 1-phase transformer, the copper loss at full

load is 600 W. At half of the full load the copper

loss will be

(a) 300 W (b) 150 W

(c) 75 W (d) 600 W

26. An auto-transformer used with a sodium vapour

lamp should have high

(a) transformation ratio

(b) winding resistance

(c) leakage reactance of windings

(d) VA rating
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27. ,d Lor% ifj.kkfe= dh izkFkfed dqaMyh esa orZuks a dh la[;k

210 vkSj f}rh;d daqMyh esa 140 gSA rnuqlkj ;fn fuos'k

èkkjk 60 A gks] rks og fuxZe dqaMyh rFkk mHk;fu"B dqaMyh esa

fdruh gksxh

(a) 90 A, 150 A

(b) 40 A, 20 A

(c) 40 A, 100 A

(d) 90 A, 30 A

28. ,d 3 Qst okys ifj.kkfe= dk izkFkfed MsYVk esa vkSj f}rh;d]

LVkj esa tqM+k gSA mldk f}rh;d ls izkFkfed dk izfr Qst orZu

vuqikr 6 gSA rnuqlkj izkFkfed oksYVrk 200 V ds fy, mldh

f}r;d oksYVrk fdruh gksxh

(a) 58 V (b) 2078 V

(c) 693 V (d) 1200 V

29. ,d izfrjks/kd vkSj nwljk ifjiFk vo;o] Mh lh oksYVrk V ds ikj

,d Js.kh esa tqM+s gSaA mlesa nwljs vo;o ds ikj oksYVrk vkjaHk esa

V gS vkSj ckn esa 'kwU; gks tkrh gSA rnuqlkj nwljk vo;o iw.kZr%

D;k gS

(a) izsjdRo

(b) /kkfjrk

(c) (b) rFkk (d) nksuksa

(d) izfrjks/k

30. vuqukn ij RLC AC Js.kh ifjiFk ds fy, /kkjk fdruh gksrh

gS

(a) pf ls vkxs vf/kdre

(b) pf ls vkxs U;wure

(c) pf ls ihNs U;wure

(d) pf bdkbZ ij vf/kdre

31. ,d Js.kh R-L-C, ijhiFk 1 MHz ij vuquknh gSA rnuqlkj 1.1

MHz vko`fÙk ij] ifjiFk izfrck/kk dSlh gksxh

(a) iszjf.kd

(b) izfrjks/kd

(c) R, L rFkk C ds vkisf{kd vk;ke ij vk/kkfjr

(d) /kkjd

27. In an auto-transformer, the number of turns in

primary winding is 210 and in secondary winding

is 140. If the input current is 60 A, the currents in

output and in common winding are respectively

(a) 90 A, 150 A

(b) 40 A, 20 A

(c) 40 A, 100 A

(d) 90 A, 30 A

28. A 3-phase transformer has its primary connected

in delta and secondary in star. Secondary to primary

turns ratio per phase is 6. For a primary voltage of

200 V, the secondary voltage would be

(a) 58 V (b) 2078 V

(c) 693 V (d) 1200 V

29. A resistance and another circuit element are

connected in series across a DC voltage V. The

voltage across the second element is V initially and

zero after time. The other element is pure

(a) inductance

(b) capacitance

(c) both (b) and (d)

(d) resistance

30. For RLC AC series circuit at resonance the

current is

(a) maximum at leading p.f

(b) minimum at leading p.f

(c) minimum at lagging p.f

(d) maximum at unity p.f

31. A series R-L-C circuit resonates at 1 MHz. At

frequency 1.1 MHz the circuit impedance will be

(a) inductive

(b) resistive

(c) will depend on the relative amplitude of R, L

and C

(d) capacitive
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32. fp= esa iznfr'kZ usVodZ dk X rFkk Y VfeZuyksa ds chp rqY;eku

izfrjks/k fdruk gksxk

 

 

X Y

(a)
20

9
 (b) 8 

(c)
100

3
 (d)

40

3


33. fdlh ifjiFk esa Fksosfuu izes; ds iz;ksx ls D;k ifj.kke izkIr gksrk

gS

(a) ,d oksYVrk ds L=ksr rFkk ,d izfrck/kk dk Js.kh esa gksuk

(b) ,d vkn'kZ oksYVrk dk L=ksr

(c) ,d vkn'kZ /kkjk dk L=ksr

(d) ,d /kkjk dk L=ksr rFkk ,d izfrck/kk dk lekarj gksuk

34. i = 6 + 10 sin(100 t) + 20 sin (200 t) dh /kkjk ,d

PMMC rFkk py yksg ;a= ds la;kstu dh vuqxkeh gSA rnqulkj]

M.I. rFkk PMMC ehVj esa iath;u ds vuqlkj] nksuksa /kkjkvksa dk

vuqikr fdruk gksxk

(a) 2.63 (b) 1.81

(c) 3.11 (d) 2.82

35. rhu izfrjks/k] ftuesa izR;sd 5 gS] LVkj esa tksM+s x, gSA rnuqlkj

muds vuq:i MsYVk&izfrjks/kksa dk eku fdruk gksxk\

(a) 15  izR;sd (b) 1.5  izR;sd

(c) 2.5  izR;sd (d) 5/3  izR;sd

36. ,d 120 V, 60 W dk rkIrnhIr ySai] ,d Qst okyh ac vkiwfrZ

ij 220 V, 50 c/s ij pkyw djuk gSA blds fy, ,d ifjiFk ds

vo;o dks ySai ls Js.kh esa tksM+uk gSA rnuqlkj fuEu esa dkSu lh

Js.kh dk vo;o csgrj gksxk\

(a) 'kq) iszjdRo

(b) 'kq) /kkfjrk

(c) 'kq) izsjdRo ;k /kkfjrk

(d) izfrjks/k

32. The equivalent resistance between terminals X and

Y of the network shown is

 

 

X Y

(a)
20

9
 (b) 8 

(c)
100

3
 (d)

40

3


33. Application of Thevenin’s Theorem in a circuit

results in

(a) a voltage source and an impedance in series

(b) An ideal voltage soruce

(c) An ideal current source

(d) a current source and an impedance in parallel

34. A current of i 6 10sin(100 t) 20sin(200 t)    

is flowing through a series combination of a PMMC

and moving iron instrument. Ratio of the two

currents as registered by the M.I. and PMMC

meter is

(a) 2.63 (b) 1.81

(c) 3.11 (d) 2.82

35. Three resistances 5 each are connected in star.

Values of equivalent delta resistances are?

(a) 15 each (b) 1.5 each

(c) 2.5 each (d) 5/3 each

36. A 120 V, 60 W incandescent lamp has to be operated

from 220 V, 50 c/s, 1-phase AC supply. In order to

do this, a circuit element has to be connected in

series with the lamp. Which one of the following

series element is preferable ?

(a) Pure inductance

(b) Pure capacitance

(c) Pure inductance or capacitance

(d) Resistance
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37. R, L rFkk C okys ,d ,lh ifjiFk dh cSaM+&pkSM+kbZ fdruh gksrh gS

(a)
RC

L
(b)

L

R

(c)
R

L
(d)

L

RC

38. 3 Qst okyh larqfyr iznk; iz.kkyh ds fy, fdl Hkkj ij ykbu

èkkjkvksa dk Qstj ;ksx 'kwU; ugha gksxk

(a) vlarqfyr LVkj ;ksftr

(b) larqfyr MsYVk ;ksftr

(c) vlarqfyr MsYVk ;ksftr

(d) larqfyr LVkj ;ksftr

39. ,d ,-lh- R-L-C ifjiFk ds Js.kh vuqukn ij D;k gksrk gS

(a) vkjksfir oksYVrk] izsjf.kd ikr ds cjkcj gksrh gS

(b) vkjksfir oksYVrk] izfrjks/kh izkr ds cjkcj gksrh gS

(c) vkjksfir oksYVrk] /kkfjr ikr ds cjkcj gksrh gS

(d) vkjksfir oksYVrk] izfrjks/k ikr ls vf/kd gksrh gS

40. ,d Js.kh okys RLC ifjiFk esa R = 20W, X
L
 = 30 rFkk

X
C
 = 30 gSA rnuqlj ;fn la;kstu ds ikj] iznk; oksYVrk v

= 100 sin (100 t + 30°) oksYV gks] rks rkR{kf.kd /kkjk rFkk

ifjiFk dk 'kfDr xq.kd Øe'k% fdruk gksxk

(a) i = 5 sin (100 t + 30°) ,sfEi;j 'k-xq- = 0.866

(b) i = 3.536 sin (100 t + 30°) ,sfEi;j 'k-xq- = 0.866

(c) i = 5 sin (100 t + 30°) ,sfEi;j 'k-xq- = bdkbZ

(d) i = 3.536 sin (100 t + 30°) ,sfEi;j 'k-xq- = bdkbZ

41. uhps fn, x, lehdj.k ds vk/kkj ij izR;korhZ /kkjk dk rms eku

fdruk gksxk

i = 50 sin(314t – 10°) + 30 sin(314t – 20°) is

(a) 77.43 A (b) 41.23 A

(c) 58.31 A (d) 38.73 A

42. ,d Js.kh okyk R-L-C ifjiFk fdl vko`fÙk ij pkyw djus ij

bdkbZ 'kfDr xq.kd okyk gksxk

(a) 1/ LC (b)  1 2 LC 

(c) LC (d) 1/(LC)

37. The bandwidth of an ac series circuit consisting of

R, L and C is

(a)
RC

L
(b)

L

R

(c)
R

L
(d)

L

RC

38. For balanced 3-phase supply system, the phasor

sum of the line currents is NOT zero if the load is

(a) Unbalanced star connected

(b) Balanced delta connected

(c) Unbalanced delta connected

(d) Balanced star connected

39. At series resonance of an ac R-L-C circuit the

impressed voltage is

(a) equal to the inductive drop

(b) equal to the resistive drop

(c) equal to the capacitive drop

(d) greater than the resistive drop

40. In a series RLC circuit R 20  , LX 30   and

CX 30  . If the supply voltage across the

combination is ov 100sin(100 t 30 )volts   , the

instantaneous current and the power factor of the

circuit are respectively

(a) oi 5sin(100 t 30 )Amps   , p.f . 0.866

(b) oi 3.536sin(100 t 30 )Amps   , p.f . 0.866

(c) oi 5sin(100 t 30 )Amps   , p.f . unity

(d) oi 3.536sin(100 t 30 )Amps   , p.f . unity

41. The rms of the alternating current given by the

equation
o oi 50sin(314t 10 t) 30sin(314t 20 )     is

(a) 77.43 A (b) 41.23 A

(c) 58.31 A (d) 38.73 A

42. A series RLC circuit will have unity power factor

if operated at a frequency of

(a) 1/ LC (b)  1 2 LC 

(c) LC (d) 1/(LC)
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43. ,d larqfyr 3 Qst okyh iz.kkyh esa ,d okVehVj dh /kkjk dq.Myh

ykbu esa 1 esa fufo"V dh xbZ gS vkSj foHko dq.Myh ykbu 2 rFkk

3 ds ikj yxkbZ xbZ gSaA rnuqlkj ;fn okVehVj dk iBu 100 W

gks] rks 3 Qst ds Hkkj }kjk fdruh izfr?kkrh 'kfDr yh tk,xh

(a) 141.4 VAR

(b) 173.2 VAR

(c) 50 VAR

(d) 100 VAR

44. ,d fo|qr yksg dks 230 V, 400 W, 50 Hz ij fu/kkZfjr fd;k

x;k gSA rnuqlkj 230 V dk oksYVrk fu/kkZj.k D;k izdV djrk gS

(a) f'k[kj eku

(b) rms eku

(c) f'k[kj ls f'k[kj rd dk eku

(d) vkSlr eku

45. ,d xSj&T;koØh; vkorhZ rjax:i DC ?kVd] cosine ?kVd ;gk¡
rd fd gkeksZfudh ls Hkh eqDr gSA rnuqlkj rjax:i dSlk gksxk

(a) dsoy v/kZ rjax lefefr

(b) v/kZ rjax rFkk fo"ke le Qyu lefefr

(c) v/kZ rjax rFkk le Qyu lefefr

(d) dsoy fo"ke Qyu lefefr

46. tSlk fd js[kkfp= esa n'kkZ;k x;k gS] 25 lsdaM dh le;kof/k okyh

x(t) vk;rkdkj Lianksa dh ,d vkorhZ jsyxkM+h dk Lian foLrkj

9 lsdaM dk gSA rnuqlkj mlds rjax:i dk RMS eku fdruk
gksxk

x(t)

0 9 25 34 50

6

(a) 2.16 V (b) 10 V

(c) 6 V (d) 3.6 V

43. In a balanced 3-phase system, the current coil of a

wattmeter is inserted in line 1 and the potential coil

across 2 and 3. If the wattmeter reads 100 W, the

reactive power drawn by the 3-phase load is

(a) 141.4 VAR

(b) 173.2 VAR

(c) 50 VAR

(d) 100 VAR

44. An electric iron is rated at 230 V, 400 W, 50 Hz.

The voltage rating 230 V refers to

(a) peak value

(b) rms value

(c) peak-to-peak value

(d) average value

45. A non-sinusoidal periodic waveform is free from

DC component, cosine components and even

harmonics. The waveform has

(a) only half wave is symmetry

(b) half wave and odd function symmetry

(c) half wave and even function symmetry

(d) only odd function symmetry

46. A periodic train of rectangular pulses x(t) with a

time period of 25 seconds, has a pulse width of 9

seconds as shown in figure. The RMS value of the

waveform is

x(t)

0 9 25 34 50

6

(a) 2.16 V (b) 10 V

(c) 6 V (d) 3.6 V
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47. fp= esa iznf'kZr usVodZ dk le;&fLFkjkad fdruk gksxk

R C

CR

(a) 2 CR (b) CR/4

(c) CR/2 (d) CR

48. Js.kh okys RC ifjiFk esa] C ds ikj oksYVrk] ifjiFk dks V oksYV

DC ij pkyq djrs gh c<+us yxrh gSA rnuqlkj C ds ikj

oksYVrk&c<+ksrjh dh nj] ifjiFk dk fLop can djrs gh

¼vFkkZr~ t = 0+ ij½ fdruh gks tk,xh

(a) R/CV (b) RV/C

(c) CV/R (d) V/RC

49. fdlh izR;korhZ rjax dk vkÑfr xq.kd D;k gS
(a) vkÑfr xq.kad = rms eku × vkSlr eku

(b) vkÑfr xq.kd = rms

vklS r eku
eku

(c) vkÑfr xq.kd =
2(rms )eku

vklS r eku

(d) vkÑfr xq.kd =
rms eku
vklS r eku

50. fuEufyf[kr oksYVrk rFkk /kkjk rjaxksa ds chp dk Qst varj

fdruk gS

v = 311 sin(100 t + 30°) oksYV

i = 17 sin(100 t – 20°),sfEi;j

(a) 30° (b) 20°

(c) 50° (d) 10°

47. The time constant of the network shown in the

figure is

R C

CR

(a) 2 CR (b) CR/4

(c) CR/2 (d) CR

48. In the series RC circuit, the voltage across C starts

increasing, the moment the circuit is switched to V

volts DC. The rate of increase of voltage across C

at the instant just after the switch is closed

(i.e. at t 0 ) is

(a) R/CV (b) RV/C

(c) CV/R (d) V/RC

49. Form factor of an alternating wave is

(a) Formfactor rms value average value 

(b) average value
Formfactor

rms value


(c)
 2rms value

Formfactor
average value


(d)
rms value

Formfactor
average value


50. The phase difference between the following

voltage and current waves

ov 311sin(100 t 30 )Volts  

oi 17sin(100 t 20 )Amps    is

(a) 30° (b) 20°

(c) 50° (d) 10°
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51. lwph&I ¼inkFkZ½ esa nh xbZ oLrqvksa dk lwph&II ¼izfrjks/k dk rki

xq.kkad½ esa nh xbZ inksa ls feyku dhft,A rnuqlkj lwfp;ksa ds dksM+ksa

dk iz;ksx djds mÙkj dk p;u dhft,

lwph-I lwph-II

a. ,yqfefu;e P. vfr vYi

b. eSaxfuu Q. /kukRed

c. dkcZu R. _.kkRed

(a) a  R, b  P, c  Q

(b) a  R, b  Q, c  P

(c) a  Q, b  P, c  R

(d) a  P, b  Q, c  R

52. fuEu inkFkks± esa] fdlesa lcls de izfrjks/kdrk gksrh gS\

(a) rkack (b) yksgk

(c) eSaxfuu (d) ,syqfefu;e

53. lkekU;r% rkieku c<+us ij fo|qrjks/kuksa ds izfrjks/kdksa ij D;k

izHkko iM+rk gS

(a) vifjofrZr jgrs gSa

(b) ?kVrs gSa

(c) rsth ls c<+rs gSa

(d) /khjs /khjs c<+rs gS

54. ,d 10 µF rFkk ,d 20 µF ds la/kkfj= Js.khc) gSA muds

la;kstu esa 150 V, ,d T;koØh; oksYVrk&L=ksr ls fn, tkrs gSaA

rnuqlkj 20 µF ds la/kkfj= ds laidZ esa fdruh oksYVrk jgsaxh

(a) 50 V (b) 75 V

(c) 125 V (d) 100 V

55. os 'krZs] ftu ij fuEu foHko foHkktd] vko`fÙk ls Lora= gksrk gS]

fdl izdkj dh gS

R1 C1

C2 vo

vi

R2

51. Match the items given in List-I (Material) and those

in List-II (Temperature Coefficient of Resistance).

Select your answers using codes given in the lists

List-I List-II

a. Aluminium P. Negligibly small

b. manganin Q. Positive

c. Carbon R. Negative

(a) aR, bP, cQ

(b) aR, bQ, cP

(c) aQ, bP, cR

(d) aP, bQ, cR

52. Which of the following material posses the least

resistivity?

(a) Copper (b) Iron

(c) Maganin (d) Aluminium

53. The resistances of insulations, in general, _____

with temperature rise

(a) does not change

(b) decreases

(c) increases rapidly

(d) increases slowly

54. A10 F and a 20 F capacitor are in series. The

combination is supplied at 150 V from a sinusoidal

voltage source. The voltage across the 20 F

capacitor is then

(a) 50 V (b) 75 V

(c) 125 V (d) 100 V

55. The conditions at which the following potential

divider is independent of frequency, may be

R1 C1

C2 vo

vi

R2
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(i) 1 1

2 2

R C

R C


(ii) 1 2

2 1

R C

R C


(iii) 1 2 2 2R C 1,R C 1 

(iv) 1 2
1 2

1 1
R R

C C
  

(a) dsoy (ii) lgh gSa (b) (ii) rFkk (iv) lgh gSa

(c) (i) rFkk (iii) lgh gSa (d) dsoy (i) lgh gS

56. fuEu esa dkSu] fo|qr dk loksZÙke pkyd gS\

(a) vklfor ty (b) xeZ ty

(c) ued ty (d) 'khry ty

57. fo|qr ÅtkZ dh SI bdkbZ dkSu lh gS

(a) oksYV&,sfEi;j&lsd.M

(b) okV&lsd.M

(c) twy

(d) kWh

58. fdlh izsjd esa izokfgr /kkjk dk rjax&vkdkj fuEu izdkj dk gksrk

gS

i

 2A

T

i

 t

rnuqlkj ml izsjd ds lEidZ esa oksYVrk&ikr dk rjax vkdkj fuEu
esa dkSu lk gksxk

(a)

0 T
t

v

(b) v

0 T
t

v

(c)
v

0 T
t

v

(d)

v

v

0 T
t

(i)
1 1

2 2

R C

R C


(ii)
1 2

2 1

R C

R C


(iii) 1 1R C 1 , 2 2R C 1

(iv) 1 2
1 2

1 1
R R

C C
  

(a) (ii) is true only (b) (ii) and (iv) are true

(c) (i) and (iii) are true (d) (i) is true only

56. Which of the following is the best conductor of

electricity ?

(a) Distilled water (b) Warm water

(c) Salt water (d) Cold water

57. SI unit of Electrical Energy is

(a) Volt-Ampere-second

(b) Watt-second

(c) Joule

(d) KWh

58. The wave shape of current flowing through an

inductor is

i

 2A

T

i

 t

The wave shape of voltage drop (v) across the

inductor is

(a)

0 T
t

v

(b) v

0 T
t

v

(c)
v

0 T
t

v

(d)

v

v

0 T
t
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59. A rFkk B, nks rkj] tks ,d gh inkFkZ ds gSa] fdUrq fHkUu yEckbZ L

rFkk 2L ds gSa] Øe'k% r rFkk 2r f=T;k okys gSaA rnuqlkj muds

fof'k"V izfrjks/k dk vuqikr fdruk gksxk

(a) 1 : 2 (b) 1 : 4

(c) 1 : 8 (d) 1 : 1

60. ,d 20 ekbØks QSjkMs la/kkfj= dks ,d vkn'kZ oksYVrk L=ksr ds

lEidZ esa tksM+ fn;k tkrk gSA rnuqlkj la/kkfj= dh /kkjk fdruh

gks tk,xh

(a) igys vR;f/kd gksxh] vuarj pj?kkrkadh <ax ls ?kVsxh

(b) igys vR;f/kd gksxh] vuarj pj?kkrkadh <ax ls ?kVsxh vkSj

fLFkj voLFkk esa 'kwU; gks tk,xh

(c) buesa dksbZ lp ugha gS

(d) igys 'kwU; gksxh] vuarj pj?kkrkadh <ax ls c<+sxh

61. lkekU;r% ;fn ,d T;k rjax] f'eV fVªxj esa izHkfjr dh tkrh gS]

rks mldk ifj.kke D;k gksxk

(a) f=Hkqtkdkj rjax

(b) oxZ rjax

(c) vkjk nk¡rh rjax

(d) izof/kZr T;k rjax

62. ;gk¡ iznf'kZr ijfiFk esa Mk;ksM D dk dk;Z fdl izdkj dk gS

RC

Vi

D

C1

R1

V0

(a) fuxZe oksYVrk dks fDyi djuk

(b) vk/kkj mRltZd taD'ku dh j{kk djuk

(c) fuxZe oksYVrk dks ,d fLFkj eku ij jksddj j[kuk

(d) VªkaftLVj dks i{kikrh cukuk

59. Two wires A and B of the same material but of

different lengths L and 2L have the radius r and 2r

respectively. The ratio of specific resistance will be

(a) 1 : 2 (b) 1 : 4

(c) 1 : 8 (d) 1 : 1

60. A 20 micro farad capacitor is connected across an

ideal voltage source. The current in the capacitor

(a) will be very high at first, then exponentially

decay

(b) will be very high at first, then exponentially

decay and at steady state will become zero

(c) None of these are true

(d) will be zero at first, then exponentially rise

61. In general, if a sine wave is fed into a Schmitt trigger,

the output will be

(a) a triangular wave

(b) a square wave

(c) a saw-tooth wave

(d) an amplified sine wave

62. In the given circuit the function of the diode D is

RC

Vi

D

C1

R1

V0

(a) to clip the output voltage

(b) to protect the base-emitter junction

(c) to hold the output voltage to a constant value

(d) to bias the transistor
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63. FET D;k gksrs gS

(a) f}/kzqoh; midj.k

(b) ,d/kzqoh; ;k f}/kzqoh;

(c) buesa ls dksbZ ugha

(d) ,d/kqzoh; midj.k

64. bl ifjiFk esa Mk;ksM D dk vxzfn'k izfrjks/k 2 rFkk mldk
foijhr fn'kk izfrjks/k vlhfer mPPk gS

100V
AC

D

Meter

;gk¡ ,d lwph ¼lwph&I½ eksVjksa dh rFkk nwljh ¼lwph&II½ ehVj ds

ekiuksa dh gS

lwph-I lwph-II

(i) PMMC (a) 7.07 A

(ii) xeZ rkj (b) 4.5 A

(iii) dkcZu (c) 10 A

(d) 12.5 A

rnuqlkj fuEu fodYiksa esa dkSu lk fodYi ehVj ds izdkj

¼lwph&I½ rFkk ehVj ds ikB~;kad ¼lwph&II½ dks lgh lwfpr djrk

gS

(a) (i)  (b), (ii)  (a)

(b) (i)  (a), (ii)  (c)

(c) (i)  (b), (ii)  (d)

(d) (i)  (a), (ii)  (b)

65. bl vkÑfr esa D ,d vkn'kZ Mk;ksM gSA ;fn fufo"V oksYVrk dk

rms eku 50 V gks] rks 100  ds ek/;e ls rms /kkjk fdruh
gksxh

Vi

D

63. FET are

(a) bipolar devices

(b) either unipolar or bipolar

(c) None of these

(d) unipolar devices

64. In the circuit forward resistance of the diode D is

2 and its reverse resistance is infinitely high

100V
AC

D

Meter

A list consists of meters (List-I) and another list

shows, the meter readings (Lis-II)

List-I List-II

(i) PMMC (a) 7.07 A

(ii) Hot wire (b) 4.5 A

(iii) Carbon (c) 10 A

(d) 12.5 A

Which one of the options given here is correct to

indicate the type of meter (List-I) and its reading

(List-II)

(a) ( i )  (b), (ii)  (a)

(b) (i)  (a), (ii)  (c)

(c) (i)  (b), (ii)  (d)

(d) (i)  (a), (ii)  (b)

65. In the figure. D in an ideal diode. If the rms value

of the input voltage is 50V, then the rms current

through 100 is

Vi

D
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(a) 0.5 2A (b)
0.5

2

(c) 0.25 (d) 0.5 A

66. fuEu esa ls dkSu lk inkFkZ v/kZpkyd gS\

(a) flfydk

(b) Øksfe;e

(b) lsysfu;e

(d) fcLeFk

67. ,d fn"Vdkjh ifjiFk esa fQYVj dk izkFkfed dk;Z D;k gS

(a) fn"Vdkjh fuxZe esa fo"ke gkeksZfudks dks fu#) djuk

(b) fuxZe oksYVrk ds DC Lrj dks fu;af=r djuk

(c) fn"VÑr fuxZe ls ÅfeZdk,¡ gVkuk

(d) AC fufo"V fopyuksa dks U;wure djukA

68. ,d R-L Js.kh ifjiFk esa R = 20 , L = 0.056 H rFkk iznk;

vko`fÙk f = 50 Hz gSA rnuqlkj ifjiFk dh izfrck/kk dk ifjek.k

fdruk gS

(a) 20.056  (b) 26.64 

(c) 20.0  (d) 37.6 

69. ,d 'kq) T;koØh; /kkjk dh fn"VÑr fd;k tk jgk gSA rnuqlkj ;fn

ml T;koØh; /kkjk ds vf/kdre eku ds fy,] v/kZ rjax fn"VÑr

èkkjk dk rms eku 50 A gks] rks mlds iw.kZ rjax fn"Vdj.k dk

rms eku fdruk gksxk

(a) 70.7 A (b) 50/ A

(c) 100/ A (d) 100 A

70. ,d 'kq) v/kZ pkyd esa rki larqyu ds varxZr fNnzksa dh la[;k rFkk

pkyu&bysDVªkWuksa dh la[;k ds chp dk vuqikr fdruk gksrk gS

(a) 2 (b)
1

2

(c) vuar (d) 1

71. IE fu;esa ds vuqlkj fdlh miHkksDrk ds ifjlj esa ?kksf"kr rFkk

okLrfod oksYVrk ds chp dk vf/kdre vuqKs; varj fdruk gksuk

pkfg,

(a) ± 3.5% (b) ± 4%

(c) ± 4.5% (d) ± 3%

(a) 0.5 2A (b)
0.5

2

(c) 0.25 (d) 0.5 A

66. Which of the following materials is a semiconductor?

(a) Silica

(b) Chromium

(c) Selenium

(d) Bismuth

67. In a rectifier circuit, the primary function of the

filter is to

(a) suppress odd harmonics in the rectifier output

(b) control the DC level the output voltage

(c) remove ripples from the rectified output

(d) minimise AC input variations

68. In an R-L series circuit R = 20, L = 0.056 H and

the supply frequency in f = 50 Hz. The magnitude

of impedance of the circuit is

(a) 20.056  (b) 26.64 

(c) 20.0  (d) 37.6 

69. A pure sinusoidal current is being rectified. For the

given maximum value of sinusoidal current if rms

value of half wave rectified current is 50 A, then

the rms value of full wave rectification will be

(a) 70.7 A (b) 50/ A

(c) 100/ A (d) 100 A

70. Under thermal equilibrium in a pure semiconductor

the ratio of the number of holes to the number of

conduction electrons is

(a) 2 (b) 1/2

(c)  infinity (d) 1

71. As per IE rules the maximum allowable variation

between declared and actual voltage at consumer's

premised should be

(a) ± 3.5% (b) ± 4%

(c) ± 4.5% (d) ± 3%
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72. ty oS|qr 'kfDr dsUnz esa iz;qDr vkYVjusVj esa rki fo|qr 'kfDr

dsUnz esa iz;qDr vkYVjusVj ls vf/kd /kzqo D;ksa gksrk gSa

(a) ml vkYVjusVj ls tfur 'kfDr de gksrh gS

(b) eq[; pkyd dh xfr dks vko';drkuqlkj cnyk tk

ldrk gS

(c) vkYVjusVj ls tfur 'kfDr dh ek¡x ds vuqlkj cnyk tk

ldrk gS

(d) mlds eq[; pkyd dh xfr de gksrh gS

73. ,d miHkksDrk dks fn;k x;k yksM 2 kW gS vkSj mldh vf/kdre

ek¡x 1.5 kW gSA rnuqlkj ml miHkksDrk dk ek¡x xq.kkad fdruk

gS

(a) 0.375 (b) 1.33

(c) buesa ls dksbZ ugha (d) 0.75

74. fdlh FkkbjkbV fujks/kd esa izfrjks/k dSlk jgrk gS

(a) iz;qDr oksYVrk ds vuqlkj jSf[kdr% ?kVrk gS

(b) fuEu /kkjk ij mPp rFkk mPp /kkjk ij fuEu gksrk gS

(c) fuEu /kkjk ij fuEu rFkk mPp /kkjk ij mPp gksrk gS

(d) iz;qDr oksYVrk ds vuqlkj jSf[kdr% c<+rk gS

75. ,d miHkksDrk dks fuEu izdkj dh 'kqYd njsa izLrkfor dh xbZ gSaA

mls izfrekl Rs. 1,000 dk fuf'pr 'kqYd nsuk gksxk vkSj mi;qDr

'kfDr dk Rs. 4.50 izfr ;qfuV dh nj ls pkyw Hkqxrku djuk

gksxkA rnuqlkj ;fn og miHkksDrk viuh 1 kW yksM okyh eksVj

dks 0.85 'kfDr xq.kkad ij vkSlru 15 ?kaVs izfr fnu pykrk gS]

rks mldk okf"kZd fcy fdruk gksxk

(a) Rs. 32941.88 (b) Rs. 25637.50

(c) Rs. 36637.50 (d) Rs. 40985.29

76. pkSa/k fdl dkj.k mRiUu gksrh gS

(a) vR;f/kd T;ksfreZ;rk ds dkj.k

(b) (a) rFkk (d) esa dksbZ ugha

(c) (a) rFkk (d) nksuksa ds dkj.k

(d) n`f"V&{ks= esa vR;f/kd izdk'k oS"kE; ds dkj.k

77. fuEu esa dkSu lh fof/k] pkyd ek/;e ds rkiu ds mi;qDr gS

(a) Hk¡oj /kkjk rkiu

(b) izsj.k rkiu

(c) (a) rFkk (b) nksuksa

(d) fofdj.k rkiu

72. Alternator used in hydel power station has more

number of poles in it than used in thermal power

station, because

(a) power generated by the alternator is less

(b) speed of the prime mover may be changed

whenever required

(c)  power generated by the alternator may be

changed according to demand

(d) speed of its prime mover is less

73. The connected load of a comsumer is 2kW and

the maximum demand is 1.5kW. The demand factor

of the consumer is

(a) 0.375 (b) 1.33

(c) None of these (d) 0.75

74. In a thyrite lightning arrester the resistance

(a) decrease linearly with the applied voltage

(b) is high at low current and low at high current

(c)  is low at low current and high at high current

(d) increase linearly with the applied voltage

75. A consumer is offered the following rate of tariff.

He has to pay a fixed charge of Rs. 1,000 per month

and a running charge of Rs. 4.50 per unit consumed.

If the consumer runs a motor load of 1kW at 0.85

power factor lagging on an average of 15 hours

per day, his annual bill is

(a) Rs. 32941.88 (b) Rs. 25637.50

(c) Rs. 36637.50 (d) Rs. 40985.29

76. Glare is caused due to

(a) excessive luminance

(b) none of (a) and (d)

(c)  both of (a) and (d)

(d) excessive lighting contrast in the field of vision

77. Which of the following method is suitable for

heating of conducting medium?

(a) Eddy current heating

(b) Induction heating

(c) Both (a) and (b)

(d) Radiant heating
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78. nkgdeZ ds fy, HkÍh esa fdl izdkj dk rkiu iz;qDr gksrk gSa

(a) izsj.k rkiu

(b) ijkoS|qr rkiu

(c) vkdZ rkiu

(d) izfrjks/k rkiu

79. izfrnhfIr uyh okys ifjiFk esa mPp oksYVrk izksRd"kZ fdlls mRiUu

gksrk gS

(a) pksd (b) rkid

(c) bysDVªksM (d) izorZd

80. AC lapkfyr oS|qr ;kaf=r laifdZr esa] [kV&[kV dh leL;k dSls

nwn dh tkrh gS

(a) oS|qr pqacd dks /kzqo&Qyd ij rk¡cs dh Nknu&iÍh j[kdj

(b) pkyd ds vuqizLFk dkV dks c<+kdj

(c) pkyd lkexzh ds :i esa rk¡cs dh ctk; ,syqfefu;e dk iz;ksx

djds

(d) oS|qr pqEcd ØksM dk iVyu djds

81. pqEcdh; fu/kZeu daqMfy;k¡ lkekU;r% dgk¡ iz;qDr gksrh gS

(a) rSy ifjiFk&fo;kstd

(b) fuokZr ifjiFk&fo;kstd

(c) ok;q fo;kstu ifjiFk&fo;kstd

(d) okR;k ifjiFk fo;kstd

82. fdlh rqY;dkfyd e'khu dh iw.kZr% fip dqaMyh ds fy, fip&xq.kkad

fdruk gksxk

(a) 1.0 (b) 0.5

(c) 0.9 (d) 0.0

83. R
m
izfrjks/k rFkk R

m
izfr?kkr okyk ,d ,-lh- ehVj Js.kh esa R

s

izfrjks/k ls tksM+k x;k gSA (R
sh

 + jX
sh

) izfrck/kk okyk ,d 'kaV]

ehVj rFkk R
s
ds mDr orZeku la;kstu ds lekarj yxk;k x;k gSA

rnuqlkj nksuksa 'kk[kkvksa ds ikj /kkjk dk foHkktu mldh vko`fÙk ls

Lora= dc gksxk

RsX

XshRsh

Rm

Meter

78. Furnaces used for cremation use

(a) Induction heating

(b) Dielectric heating

(c)  Arc heating

(d) Resistance heating

79. In a fluorescent tube circuit high voltage surge is

produced by

(a) Choke (b) Heater

(c)  Electrode (d) Starter

80. In AC operated electromechanical contractors, the

problem of chattering is eliminated by

(a) placing copper shading band on plot face of

electromagnet

(b) increasing the conductor cross-section

(c) using aluminium instead of copper as conductor

(d) laminating the electromagnet core

81. Magnetic blowout coils are generally used in

(a) oil circuit breaker

(b) vaccum circuit breaker

(c) air break circuit breaker

(d) air blast circuit breaker

82. The pitch factor for a full pitched winding of a

synchronous machine is

(a) 1.0 (b) 0.5

(c) 0.9 (d) 0.0

83. An AC meter of resistance R
m
 and resistance X

m

is connected in series with a resistance R
s
. A shunt

of impedance (R
sh

 + jX
sh

) is applied in parallel to

the existing combination of meter and R
s
. The

current division across the two branches will be

independent of frequency when

RsX

XshRsh

Rm

Meter
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(a) (R
s
 + R

m
)2 + X

m
2 = R

sh
2 + X

sh
2

(b)
shm

m s sh

XX

R R R




(c) s sh

2 2 shm m

R R

XR X




(d)
shm

m sh

XX

R R


84. vkHkklh Hkkj dh voLFkk esa] okVehVj ds va'kkadu ijh{k.k esa] ÅtkZ

dk miHkksx fdl dkj.k de gks tkrk gS

(a) ijh{k.k lsV esa yksM dh vuqifLFkfr

(b) /kkjk&dq.Myh ds ikj fuEu oksYVrk&iwfrZ dk i`Fkd mi;ksx

(c) nksuksa dq.Myh ds chp fdlh mHk;fu"V fcanq dk uk gksuk

(d) /kkjk dq.Myh rFkk nkc dq.Myh esa gkfu dh deh

85. ,d larqfyr 3&Qst okys ifjiFk esa] okVehVjksa dh fof/k ls 'kfDr

ds ekiu esa] ;fn nksuksa okVehVjksa dk ikBu ,dleku gks] rks ifjiFk

dk 'kfDr xq.kkad fdruk gksxk

(a) 0.8 vkxs (b) 'kwU;

(c) bdkbZ (d) 0.8 ihNs

86. nks ehVjksa X rFkk Y dks] iwjs iSekus ij fo{ksi ds fy, Øe'k%

40 mA rFkk 50 mA dh t:jr FkhA rnuqlkj fLFkfr D;k gSa\

(a) Y, X ls T;knk laosn'khy gS

(b) nksuksa ,d leku laosnu'khy gS

(c) fVIi.kh ds fy, vk¡dM+s vi;kZIr gSa

(d) X, Y ls T;knk laosnu'khy gS

87. ?kjsyw ÅtkZ ehVj dSlk gksrk gS

(a) lekdyu ;a=

(b) vfHkys[kuj ;a=

(c) buesa ls dksbZ ugha

(d) lwpd ;a=

(a) (R
s
 + R

m
)2 + X

m
2 = R

sh
2 + X

sh
2

(b)
shm

m s sh

XX

R R R




(c) s sh

2 2 shm m

R R

XR X




(d)
shm

m sh

XX

R R


84. In phantom loading arrangement, energy

consumption in the calibration test of wattmeter is

reduced because of

(a) the absence of load in the test set

(b) the separate application of low voltage supply

across current coil

(c) no common point between the two coils

(d) the reduced loss in current coil and pressure

coil

85. In the measurement of power in a balanced 3-

phase circuit bt two-wattmeter method if the two

wattmeters show equal readings, then the power

factor of the circuit is

(a) 0.8 leading (b) zero

(c)  unity (d) 0.8 lagging

86. Two meters X and Y required 40mA and 50mA

respectively for fully scale deflection. Then

(a) Y is more sensitive than X

(b) Both are equally sensitive

(c) Data are insufficient to comment

(d) X is more sensitive than Y

87. The household energy meter is

(a) integrating instrument

(b) recording instrument

(c) None of these

(d) indicating instrument
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88. tc dksbZ la/kkfj=] ehVj ds ek/;e ls fuLl`r gksrk gS rks 1 ekbØksa

dwyke fMxzh ds cjkcj fLFkjkad okyk izk{ksfid xSYoSuksehVj 22.5°

{ksi nsrk gSA rnuqlkj ;fn 15 V dh cSVjh] la/kkfj= ds iqu% iwj.k

dks dke esa ykbZ tk, rks la/kkj.k dk eku fdruk gksxk

(a) 15 µF (b) 22.5 µF

(c) 10 µF (d) 1.5 µF

89. ,d foHkoekih ,d Mh lh ifjiFk ds nks fcUnqvksa ds chp dh oksYVrk

ekius ds dke esa yk;k tkrk gS] rks oksYVrk 1.2 V ikbZ tkrh gSA

blh dks oksYVehVj ls ekius ij] og 0.9 V ikbZ tkrh gSA

oksYVehVj dk izfrjks/k 60 k gSA rnuqlkj nksuksa fcanqvksa ds chp

fuos'k izfrjks/k fdruk gksxk

(a) 80 k (b) 60 k

(c) 20 k (d) 45 k

90. ,d Hkkj dks iwfrZ ls tksM+k x;k gSA ml Hkkj rFkk iwfrZ ds chp ,d

/kkjk ifj.kkfe= (CT) rFkk ,d foHko ifj.kkfe= (PT) yxk, x,

gSA CT rFkk PT ds f}rh;d i{k ds 'kfDr xq.kkad dk eki 0.5

gSA rnuqlkj ;fn CT rFkk PT dh Qst dks.k =qfV;k¡ 0.4° rFkk

0.7° gks] rks Hkkj dk 'kfDr xq.kkad fdruk gksxk

(a) cos 61.1° (b) cos 60.3°

(c) cos 58.9° (d) cos 59.7°

91. ,d foHkoekih dk iz;ksx djrs gq, fuEu izfrjks/k ds ekiu esa

ikBu&ifj.kke izkIr gq,

vKkr izfrjks/k ds ikj oksYVrk dh deh = 0.531 oksYVA 0.1

ekud izfrjks/k dks Ükà[kyk esa vKkr rnuqlkj = 1.083V] rks

vKkr izfrjks/kd dk eku D;k gksxk

(a) 53.1 milliohm (b) 49.03 milliohm

(c) 108.3 milliohm (d) 20.4 milliohm

92. fuEu esa fdl izdkj dk ;a= pqEcdh; fgLVsfjfll ds dkj.k =qfV

djus yxrk gS\

(a) PMMC (b) izjs.k izdkj

(c) fo|qrxrh; (d) py yksg

93. fuEu esa fdlesa] eki dh 'kwU; fof/k dk iz;ksx ugha gksrk\

(a) AC foHkoekih (b) esxj

(c) DC foHkoekih (d) dsfYou f}lsrq

88. A Ballistic galvanometer of constant equal to 1

micro-coulomb/degree gives a throw of 22.5o, when

a capacitor discharges through the meter. If a

battery of 15V is used to recharge the capacitor,

value of capacitance is

(a) 15 µF (b) 22.5 µF

(c) 10 µF (d) 1.5 µF

89. A potentiometer is used to measure the voltage

between two points of a DC circuit, which is found

to be 1.2V. This is also measured by a voltmeter,

which is found to be 0.9V. The resistance of the

v o l t m e t e r  i s  6 0 k The input resistance between

two points

(a) 80 k (b) 60 k

(c) 20 k (d) 45 k

90. A load is connected to supply. A current

transformer (CT), and a potential transformer (PT)

is used in between load and supply. A power factor

of 0.5 is measured at the secondary side of CT

and PT . If phase angle error of CT and PT are

0.4o and 0.7o, power factor of the load is

(a) cos61.1° (b) cos60.3°

(c) cos58.9° (d) cos59.7°

91. During the measurement of a low resistance using

a potentiometer, the following readings were

obtained: Voltage drop across unknown resistance

= 0.531V. Voltage drop across a 0.1 standard

resistance connected in series with the unknown

= 1.083V. Value of the unknown resistor is

(a) 53.1 milliohm (b) 49.03 milliohm

(c) 108.3 milliohm (d) 20.4 milliohm

92. Which one of the following types of instruments

does suffer from error due to magnetic tysteresis?

(a) PMMC (b) Induction type

(c) Electrodynamic (d) Moving iron

93. Which one of the following does not employ a null

method of measurement?

(a) AC potentiometer (b) Megger

(c) DC potentiometer (d) Kelvin double bridge
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94. rkjk f=dks.k esa] rhu Qst okyh iszj.k&eksVj ds izorZu ds le;

izorZu&oksYVrk deh gks tkrh gS

(a) lkekU; oksYVrk dh
1

3
 xquh

(b) lkekU; oksYVrk dh 3  xquh

(c) lkekU; oksYVrk dh 3 xquh

(d) lkekU; oksYVrk dh
1

3
 xquh

95. fo|qrpqacdh; cy vk?kw.kZ] ¶yDl rFkk /kkjk dh vU;ksU;fØ;k ls

mRiUu gksrk gSA mlesa ¶yDl rFkk /kkjk ds chp dk dks.k 45° gksrk

gSA ;fn ;g dks.k 30° dj fn;k tk,] rks ¶yDl 100% c<+ tkrk

gS vkSj /kkjk 25% de gks tkrh gSA rnuqlkj cy vk?kw.kZ ij D;k

izHkko iM+rk gS

(a) ewy dk 66.7% de gks tkrk gS

(b) ewy dk 183.7% c<+ tkrk gS

(c) ewy dk 81.6% de gks tkrk gS

(d) ewy dk 54.4% de gks tkrk gS

96. F oxZ ds fo|qr&jks/ku ds fy, vf/kdre rkieku dh lhek

fdruh gSa

(a) 155 °C (b) 130 °C

(c) 120 °C (d) 105 °C

97. lwph&I ¼eksVjksa ds izdkj½ dk lwph&II ¼fof'k"Vrkvksa½ ls feyku

dhft, vkSj mfpr mÙkj dk p;u dhft,

lwph-I lwph-II

A. DC Js.kh eksVj 1. fLFkj xfr

B. DC 'kaV eksVj 2. mPp izorZu cy vk?kw.kZ

A        B A     B

(a) 1         2 (b) 2      1

(c) 1         1 (d) 2      2

94. In star-delta starting of three-phase induction motor

the starting voltage is reduced to

(a)
1

3
times of normal voltage

(b) 3  times of normal voltage

(c)  3 times of normal voltage

(d)
1

3
 times of normal voltage

95. An electromagnetic torque is produced as an

interaction between a flux and current. The angle

between flux and current is 45°. If this angle is

change to 30, flux increases by 100% and current

reduces by 25%, then the torque

(a) reduces to 66.7% of the original

(b) increases to 81.6% of teh original

(c) reduces to 81.6.7% of the original

(d) reduces to 54.4% of the original

96. Mamimum temperature limit for class F insulation

is

(a) 155 °C (b) 130 °C

(c) 120 °C (d) 105 °C

97. Match List-I (Types of motors) with List-II

(Characteristics) and select the appropriate response

List-I List-II

A. DC series motor 1. Constant speed

B. DC shunt motor 2. High starting torque

A        B A     B

(a) 1         2 (b) 2      1

(c) 1         1 (d) 2      2
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98. The motor characteristics best suited for traction

purpose are those of

(a) DC shunt motor

(b) DC series motro

(c) synchronous motor

(d) induction torque

99. If the starting torque of a 3-phase induction motor

is T
st
 for DOL starting, that star-delta starting of

the motor is

(a) 3 T
st

(b) T
st
/3

(c) stT / 3 (d) st3 T

100. The iron loss in a 100 KVA transformer is 1kW.

and at full load copper loss is 2 kW. The maximum

efficiency occurs at a load of

(a) 50 KVA (b) 100 KVA

(c) 70.7 KVA (d) 14.4 KVA

98. fdlh eksVj esa] la?k"kZ.k dk;Z ds fy, lcls mi;qDr fof'k"Vrk,¡ dkSu

lh gSa

(a) DC 'kaV eksVj

(b) DC Js.kh eksVj

(c) rqY;dkfyd eksVj

(d) izsj.k eksVj

99. ;fn fdlh 3 Qst okyh izsj.k eksVj dk izorZu cy vk?kw.kZ] DOL

izorZu T
st
gks] rks og mlh eksVj ds rkjk&f=dks.k izorZu gsrq fdruk

gksxk

(a) 3 T
st

(b) T
st
/3

(c) stT / 3 (d) st3 T

100. fdlh 100 kVA ifj.kkfe= esa yksg gkfu 1 kW gS vkSj iw.kZ Hkkj

ij rkack gkfu 2 kW gSA rnuqlkj mldh vf/kdre {kerk fdrus

Hkkj ij gksxh

(a) 50 kVA (b) 100 kVA

(c) 70.7 kVA (d) 141.4 kVA


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1 C 2 C 3 A 4 C 5 C

6 A 7 A 8 C 9 B 10 D

11 A 12 B 13 C 14 A 15 B

16 B 17 D 18 D 19 B 20 B

21 B 22 B 23 C 24 C 25 B

26 C 27 D 28 B 29 A 30 D

31 A 32 D 33 A 34 D 35 A

36 D 37 C 38 A 39 B 40 C

41 B 42 B 43 B 44 B 45 B

46 D 47 D 48 D 49 D 50 C

51 C 52 A 53 B 54 A 55 A

56 C 57 C 58 A 59 D 60 B

61 B 62 B 63 D 64 A 65 B

66 C 67 C 68 B 69 A 70 D

71 * 72 D 73 D 74 B 75 C

76 C 77 C 78 D 79 A 80 A

81 C 82 A 83 B 84 A 85 C

86 D 87 A 88 D 89 C 90 A

91 B 92 D 93 B 94 A 95 B

96 A 97 C 98 B 99 B 100 C

Answer Key
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Solution
2. (c)

The emf induced in a dc machine is given as

E
EP Z

·
60 A




E =
N

60


Z (as A = P, lap wound)

200
1200 250

60




 0.04wb

6. (a)

Forward field slip

S
f

s r

s

N N

N




1500 1300
0.133 Hz

1500


 

Rotor frequency due to forward field = S
f
f

0.133 50 6.67 Hz  
and due to backward field = (2 – S

f
)f

(2 0.133) 50  

93.33Hz

8. (c)

The expression for mutual industance

M 1 2K (L L )

L
1
L

2

2M

K
   
 

As K 

So, M 1 2(L L )

Obviously M 1 2L L

9. (b)

Reluctance, S
oµ


l

2

1

S

S
1 2

2 2

A

A


l

l

 l
2 11.2 l

(as 20% increment in length)

 A
2

= 0.8 A
1

(as 20% decrement in area)

 S
2

1 1
1 1

1

A 1.2
S · 1.5S

0.8A
 

l

l

% increases in,

S 2 1

1

S S
100

S

 
  
 

50%

10. (d)

M  1 2K L L

0.8 (0.2 0.8) 

0.32H

11. (a)

The time constant is given as

T
1

1

1

L

R


L
2

o s

s

µ N A


l

and R
w

wA
 

l

as N
2 12N

 L
2 14L

as N
2 12N


2wl =

1w2l

 R
2 12R

Now, T
2
=

2

2

L

R  =
1

1

4L

2R

 T
2 12T

12. (b)

Iron loss is given as

P
i

2
e hK f K f 

 iP

f h eK K f 

It resembles the straight line equation
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13. (c)

 M
A  1 2K L L 1H 

1
1 2 2

L
L and L 4L

4
  

Now, M
B

1
2

L
K (4L )

4
   
 

 1 2K L L

 M
B AM

14. (a)

iP

f h eK K f 

K
h 0.01

and K
e 0.001

 P
h hk f

0.01 100 1 watt  

P
e

2
eK f

20.01 100 10 watt  

22. (b)

Change in frequency from no load to full load

 f
1

50 0.05 2.5 Hz  

i.e.,
ft1f 50 2.5 47.5Hz  

80–xx

47.5 Hz

Machine
B

Machine
A

f Hz

r

y
80 MW 40 MW60 MW

Since both have same speed regulation then,

d1f 2ftf

For machine A,

50 f

80 x




50 47.5

40




 x – 16f 80 16 50  

 x – 16f 720  …(1)
For machine B,

50 f

x

 50 47.5

60




 x + 24f 24 50  …(2)

From equation (1) and (2)

x = 48 MW

f = 60 Hz

So, machine A operates at a load of 48 MW

While machine B will operate at a load of

80 – 48= 32 MW

24. (c)

Expression for E.M.F. is given as

E
c

= 4.44 fNK
C
K

D

= 4.44 × 50 × 240 × 25 × 10–3 × 0.9555 × 0.966

= 1228.81 Volt

25. (b)

At half load

S
cu

=
2

f
2

I
R

2
   
 

l

=
2
f 2

1
I R

4
 
 
 

l

=
1

600 150 watt
4
   
 

27. (d)

a
auto

=
210

1.5
140


1

2

I

I
=

auto

1

a

 I
2

= a
auto

 × I
1

= 1.5 × 60 = 90 A
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At point A,

I
1
 + I

C
= 90

I
C

= 90 – I
1

=  90 – 60 = 30 A

28. (b)

In a transformer

1ph

2ph

N

N
=

1ph

2ph

V

V


1

6
=

2ph

200

V

 V
2ph

= 1200 Volt

V
2 l

= 2ph3V  = 3 1200

= 2078.46 Volt

32. (d)

As the given circuit is balanced because

5

10
=

15

30

So, R
eq

= (5 + 15) × (10 + 30)

=
40

3


34. (d)

By M.I. meter

I
rms

=
2 2

2 10 20
6

2 2

       
   

= 16.9115 A

By PMMC meter
I

avg
= 6 A

rms

avg

I

I
=

16.91
2.82

6


40. (c)

In a series RLC circuit,

tan = L CX X

R



=
30 30

0
20




  = 0°

or cos  = 1

Z = 2(30 30) 20 20    

i =
V

Z
=

100 30
5 30

20 0

 
  

 
i = 5 sin (t + 30°)

41. (b)

RMS value of current is given as

I
rms

=
2 2

50 30

2 2

      
   

= 41.23 A

43. (b)

Q = 3 (reading of wattmeter)

= 3 100 173.2 VAR 

46. (d)

From the figure

x(t)

0 9 25 34 50

6

t

x
rms

=
(1/ 2)

on
max

T
x

T
 
 
 

=
(1/ 2)9

6 3.6 Volt
14
   
 

47. (d)

R
eq

= R
R R

2
 

and C
eq

= C + C = 2C

T = R
eq

 C
eq

=
R

·(2C) RC
2
   
 

48. (d)

The voltage across the capacitor is give as

V
C
(t) =

1
RCV 1 e
  

 
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C
d

V (t)
dt

=
1

RC
1

V e
RC

 
 
 

C
at t 0

d
V (t)

dt 
 =

0V V
e

RC RC


50. (c)

 = 
1
 – 

2

Since, 
1

= 30°

and 
2
= –20°

   30° – (–20°) = 50°

54. (a)

V
(20 µF)

= 1

1 2

C
·150

C C

=
10

150 50V
10 20

 


55. (a)

1
2

1
R ·

j C
= 2

1

1
R ·

j C

1

2

R

C
= 2

1

R

C

 1

2

R

R
= 2

1

C

C

58. (a)

i =
2

· t
T

and V
L

=
di

L
dt

=
d 2

L ·t
dt T
 
 
 

=
2L

constant
T


64. (a)

For PMMC and Hotwire

V = 1000°

= 100 2sin( t)

= 141.42 sin(t)

I =
V

R

=
141.42 0

(8 2) 0

 
  

I
m

= 14.142 A

Output current has a wave shape

0  2

I

14.142

3

I
rms

= mI 14.142

2 2


= 7.07 A Hot wire

I
avg

= mI



=
14.142

4.5A PMMC 


65. (b)

Output will be rectified half wave, then

I
rms

= mI

2

Now, V
m

= rmsV 2 50 2

I
m

= mV

R

=
50 2 1

100 2


 I
rms

= mI

2

=
1 0.5

2 2 2


68. (b)

Z = 2 2R (2 f .L) 

= 2 220 (2 50 0.056)  

= 26.64 

69. (a)

I
m
 Same

 For HWR Current

I
rms

= mI

2
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I
m

= 2I
rms

= 2 × 50 = 100 A

For FWR current

I
rms

=
mI

2

=
100

70.71A
2


73. (d)

Demand factor = maxP

Sum of connected load

=
1.5

0.75
2


75. (c)

Running charge annually,

= 4.5 × 1 × 15 × 365

= Rs. 24637.5

Fixed charge annually = (Rs. month) × 12

= 1000 × 12 = Rs. 12000

Total annual bill = 24637.5 + 12000

= Rs. 36637.5

83. (b)

I
m
(R

m
+R

s
+jX

m
) = I

SN
(R

sn
 + jx

sh
)

m

sh

I

I =
sn sh

m s m

R jX

R R jX


 

This ratio should be independent of frequency.

Preform rationalisation and put the imaginary part

equal to zero as

sh sh m s m

m s m m s m

R jX R R jX

R R jX R R jX

  


   

Imaginary part is zero for frequency independency

m s sh m sh
2 2

m s m

(R R )X X (R )
0

(R R ) X

 


 

   m s sh m shR R X X R 

sh

m s

X

(R R ) =
m

sh

X

R

i.e., shunt time constant should be equal to meter

time constant.

85. (c)

cos  = 1 1 2

1 2

3(P P )
cos tan

P P
  

      

If, P
1
 – P

2
= 0

 cos = cos(0) = 1

86. (d)

X, 40 mA

I
FSD

= 40 mA

S
X

=
1

25
40mA V




Y, 50 mA

I
FSD

= 50 mA

S
Y

=
1

50mA

= 20
V



 S
Y

> S
X

88. (d)

Q = CV …(1)

and Q = (Galvanometer Constant) × Throw

= 1 × 10–6 × 22.5

= 22.5 µ Coloumb

 V = 15 V

 22.5 × 10–6 = C × 15

 C = 1.5 µF

89. (c)

By using potentiometer

V
actual

= I × R

 1.2 = I × R …(1)

V
m

= I(R | | 60K)

 0.9 =
R 60K

I
60K R





…(2)

divide equation (1) by equation (2)

1.2

0.9
=

IR (60K R)

IR 60K

 


 R = 20 k
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91. (b)

0.1 ohm

V = 1.083+0531
= 1.614 V

R(Let)

1.083V

0.531V

0.531 = R
1.614

R 0.1



 R = 49.03 milliohm

95. (b)

T I cos 


2

= 
1
 + (100% 

1
) = 2

1

T I cos q


2

= 
1
 + (100% 

1
) = 2

1

I
2

= I
1
(0.75)

T
1


1
I

1
 cos 45°

T
2


2
 I

2
 cos 

2
 2

1
 (0.75) I

1
·cos 30°

1

2

T

T =
1 cos 45

·
2 0.75 cos30


 

 T
2

= 1.837 T
1

Increase to 183.7% of the original.

96. (a)

The following shows the maximum operating

temperature for different classes of insulation :

Classes Temperature

Class A Insulation 105°C

Class B Insulation 130°C

Class F Insulation 155°C

Class H Insulation 180°C

99. (b)

For DOL starting,

2stT 
2

V

3

 
 
 

1

2

st

st

T

T = 3


2stT = 1stT

3

100. (c)

max
S =

core

cu

P
S

P

=
1

100 70.7 kVA
2



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